3x-5=x-1 > 3x=x+4 > 2x=4 - x=2

bolHa+c=b+c

D a

=b-c

bolHa-c

@ a

®a=bolHa+c=b-c



ol -9} 12 ©] ge] 4 W= 7 o] 40| 3 WK} 5 7} Arkw Gk,

ol £-8 Fott AOR £ ALY

@ 3(x+12)=3x+5 @ 4(x-12)=3x+5
® 4(x+12)=3x-5 @ 4(x+12)=3x+5

® 5(x—-4)>x+12



3. The S40] 4YsH] S1ste] b, el ke 42

@D a=bOolHa-1=0p

© a=bOlH3a+1=U

© Phb, HH3b-1 @ Oh3+b,Lh2b
@ b-1,h3b+1 @ Phb+3,Lh3b-1

® Wb+1,Lh3b+1



4. H5F TS ol = sh= x 9 gho] e 9l A 1 2w?

@ x+10=x-1 © 5x+2=0

©® 3(x+1)=3x+3 @ 2(x+3)=2(x+1)

@ 4(x+1)=3x

ONQ) @ © 3 © @ Aa0 G A .0



SHax+3=2x+b7}

5.

®a=3,b=3

@ a=3,b=1
®a=2b=3

M N~ [

@D a=3,0b
@ a=2b



6. T3 T340 A2
® 2x=10 @ 3(1-2x)=-x-5
@ 12-7x="T7x+12 @ 1+x-2x=x

® 4(2-3x)=-12x+8



1 off, 2a + b <]

ol

3 3 @ 4 B 5

® 2



8. W= &2A2?

Mo

@ a+b=x+y°lHa-y=x+bo|T},
@ 2-x=3-y©°|H6-2x=4-2y o]t}
® a+5=b+3°Ha+2=>b-20|c}
@ x=y,a=bo|H

® 2x =5y o|H

—a=y-bo|th
olt},
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